“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
RBRATERA X FRERRES— AOAEBRHR (2) 29 31 30 31 31 30 31 30 31 31 28 31
I 7E s (BsFE) 708 | 731 715 739 738| 715( 740 712| 740| 740| 666| 739
AEHIE (ppm) | 0.005 [ 0.004 [ 0.006 | 0.005 | 0.005 | 0.004 [ 0.005 | 0.006 | 0.006 | 0.007 | 0.007 | 0.006
1EFFE B AY0. 1ppmZ it 2 1= B 4 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1HEEORSE (ppm) | 0.020 | 0.019 [ 0.024 [ 0.013 | 0019 | 0.012 | 0.018 | 0.014 | 0.018 | 0.033 [ 0.027 | 0.026
BTEHENRKSIE (ppm) | 0.009 | 0.010 [ 0.011 [ 0.008 [ 0.013 | 0.007 | 0.012 | 0.009 | 0.010 | 0.018 [ 0.013 | 0.017
PN AR (B3 £/NER AMBIEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B i (B5FE) 717 742| 716 | 742 740| 715 742| 718 740| 743| 668 742
AEHiE (ppm) | 0.004 [ 0.004 | 0.007 | 0.005 | 0.007 | 0.004 | 0.003 [ 0.003 | 0.003 | 0.004 | 0.004 | 0.004
1BFFE B AN0. 1ppm&its 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmZ B2 - B (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.017 | 0.018 [ 0.018 [ 0.013 | 0.020 | 0.015| 0.012 | 0.009 | 0.012 | 0.024 [ 0.015 | 0.019
BAEYEDRSIE (ppm) | 0.008 [ 0.010 | 0.012 | 0.008 | 0.014 | 0.008 | 0.007 [ 0.006 | 0.006 | 0.013 | 0.008 | 0.013
KBRATHLIER HIER &R AMBIEEH (8) 30 31 30 30 31 30 31 30 31 31 28 31
B 7E B (B5FE) 718 742 76| 733 741 715 737 718| 739 741 | 667 | 741
ATYME (ppm) | 0.005 [ 0.005 | 0.008 | 0.007 | 0.007 | 0.003 [ 0.003 [ 0.004 | 0.003 | 0.004 | 0.005 | 0.005
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k i) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.024 | 0.025 [ 0.028 [ 0.023 | 0.034 | 0.014 | 0.016 | 0.018 | 0.016 | 0.028 [ 0.026 | 0.026
BEHEORSIE (ppm) | 0.009 [ 0.012 | 0,013 | 0012 | 0.015 | 0.007 [ 0.009 [ 0.006 | 0.007 | 0.014 | 0.012 | 0.015




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
ARHTRIER TRINER AOAEBH (2) 30 31 30 29 31 30 31 30 31 31 28 31
I 7E B i (BsFE) 716 | 742| T713| 719 740 70| 737 T17| 736 7M 667 | 740
AEHIE (ppm) | 0.006 | 0.006 [ 0.009 | 0.008 | 0.007 | 0.005 | 0.005 | 0.004 | 0.004 | 0.005| 0.006 | 0.006
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.036 | 0.041 [ 0.040 [ 0.029 [ 0.030 | 0.021 | 0.031 | 0.015| 0.018 | 0.028 [ 0.039 | 0.029
BTEHENTKSIE (ppm) | 0.012 | 0.014 [ 0.016 [ 0.014 | 0.015| 0.009 | 0.010 | 0.008 | 0.008 | 0.014 [ 0.010 | 0.017
ABrEER/IIE EHRER ADBIEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B (B5FE) 718 742 | 716 742 737 716 741 718 739 | 742| 671 738
AEHiE (ppm) | 0.005 | 0.006 | 0.009 | 0.009 | 0.010 | 0.007 | 0.007 [ 0.004 | 0.003 | 0.004 | 0.005 | 0.005
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.022 | 0.024 [ 0.030 [ 0.026 | 0.028 | 0.027 | 0.035 | 0.027 | 0.038 | 0.030 | 0.019 [ 0.035
B EYEDRSIE (ppm) | 0.009 [ 0.013 | 0.015| 0015 | 0016 | 0.011 | 0.014 [ 0.008 | 0.006 | 0.014 | 0.009 | 0.016
Kirglx IR &RR AMBIERH (8) 30 31 30 31 31 30 30 30 31 31 27 31
B 7E B (B5FE) 718 742 77| 742 41| 718 737| 718| 739 742 664| 742
ATY{E (ppm) | 0.004 [ 0.005 | 0.007 | 0.006 | 0.005| 0.003 [ 0.003 [ 0.003 | 0.003 | 0.004 | 0.005 | 0.005
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.020 | 0.025 [ 0.020 [ 0.020 [ 0.018 | 0.010 | 0.015| 0.013 | 0.018 | 0.028 | 0.023 [ 0.024
BEHEORSIE (ppm) | 0.008 [ 0.012 | 0,013 | 0.010 | 0.010 | 0.006 [ 0.008 [ 0.007 | 0.007 | 0.014 | 0.010 | 0.016




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
KBRATAEEFX B 1L R A5 AOAEBH (2) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B i (BsFE) 718 742| T16| 742 741 714| 742 718 738 742| 668 742
AEHIE (ppm) | 0.005 [ 0.006 [ 0.009 | 0.008 | 0.011 | 0.005 | 0.004 [ 0.004 | 0.004 | 0.005| 0.005 | 0.005
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.022 | 0.020 [ 0.023 [ 0.020 | 0.028 | 0.020 | 0.018 | 0.013 | 0.017 | 0.026 | 0.017 [ 0.028
BTEHENTKSIE (ppm) | 0.010 | 0.012 [ 0.015| 0.014 | 0.017 | 0.012 | 0.009 | 0.008 | 0.007 [ 0.015 [ 0.009 | 0.016
ABRTIER KEPRER AMBIEBH (H) 28 31 30 31 31 30 31 30 31 31 28 31
I 7E B (B5FE) 696 | 742 T716| 742| 7M1 716 | 741 718 | 738 741 671 737
AEHiE (ppm) | 0.004 [ 0.005 | 0.008 | 0007 | 0.011 | 0.008 | 0.005 | 0.004 | 0.003 | 0.004 | 0.005 | 0.005
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.016 | 0.018 [ 0.021 [ 0.017 [ 0.029 | 0.022 | 0.019 | 0.012 | 0.013 | 0.028 | 0.017 [ 0.024
B EYEDRSIE (ppm) | 0.008 [ 0.010 | 0012 | 0011 | 0.015| 0.012 | 0.010 | 0.007 | 0007 | 0.014 | 0.009 | 0.016
KRR BEE/NFER AMBIERH (8) 30 31 30 31 31 30 31 30 31 31 28 30
B 7E B (B5FE) 718 741 77| 742 41| T17| 742 716 739 742 670| 736
ATY{E (ppm) | 0.004 [ 0.005 | 0.009 | 0.008 | 0.010 | 0.007 [ 0.007 [ 0.004 | 0.003 | 0.004 | 0.005 | 0.004
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.017 | 0.022 [ 0.023 [ 0.019 [ 0.025 | 0.015| 0.018 | 0.014 | 0.014 | 0.029 | 0.019 [ 0.022
BEHEORSIE (ppm) | 0.008 [ 0.013 | 0,013 | 0012 | 0.018 | 0.011 [ 0.013 [ 0.009 | 0.006 | 0.015 | 0.009 [ 0.015




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
RERFEZIR  |ELNER AHAEBH (2) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B i (BsFE) 718 742 T17| M1 742 715| 742| 718 739 | 742 665 741
AEHIE (ppm) | 0.005 | 0.005 | 0.008 | 0.006 | 0.007 | 0.004 | 0.004 [ 0.004 | 0.004 | 0.005| 0.006 | 0.005
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.031 | 0.035 | 0.028 [ 0.022 [ 0.022 | 0019 | 0.019 | 0.019 | 0.014 | 0.029 | 0.032 [ 0.033
BTEHENTKSIE (ppm) | 0.010 | 0.012 | 0.015( 0.012 | 0.012 | 0.008 | 0.007 | 0.008 | 0.008 | 0.016 | 0.010 [ 0.015
AR FEHX EEPER AMBIEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B (B5FE) 717 740| 717 742 740| 716 740 718 739| 742 671 739
AEHiE (ppm) | 0.004 [ 0.005 | 0.008 | 0.006 | 0.008 | 0.007 [ 0.005 | 0.003 | 0.003 | 0.004 | 0.004 | 0.004
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.024 | 0.021 [ 0.023 [ 0.021 [ 0.025 | 0.021 | 0.018 | 0.015| 0.013 | 0.028 | 0.018 [ 0.023
B EYEDRSIE (ppm) | 0.009 [ 0.012 | 0015 0011 | 0015 | 0.011 | 0.010 [ 0.007 | 0006 | 0.014 | 0.009 | 0.015
PNl e SERER AMBIERH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E B (B5FE) 718 742 TM17| M 737| 716 740 718| 739 741| 69| 740
ATY{E (ppm) | 0.005 | 0.006 | 0.010 | 0.010 | 0.011 | 0.007 [ 0.007 [ 0.004 | 0.003 | 0.004 | 0.005 | 0.005
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.030 | 0.033 [ 0.027 [ 0.026 | 0.037 | 0.023 | 0.020 | 0.015| 0.013 | 0.026 | 0.024 [ 0.028
BEHEORSIE (ppm) | 0.010 | 0.014 | 0017 | 0019 | 0.022 | 0.013 | 0.013 | 0.007 | 0.007 | 0.014| 0.010 | 0.017




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
PN ] °3 YEITINEAR AOAEBH (8) 30 31 30 31 30 30 31 30 31 31 28 31
I 7E B i (BsFE) 718 742| T715( 740 731 717| 740| 718 739 742| 670 740
AEHIE (ppm) | 0.004 [ 0.005 | 0.008 | 0.006 | 0.007 | 0.007 | 0.006 [ 0.003 | 0.003 | 0.004 | 0.004 | 0.004
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.027 | 0.024 [ 0.021 [ 0.017 [ 0.020 | 0.020 | 0.022 | 0.018 | 0.015 | 0.026 | 0.022 [ 0.023
BTEHENTKSIE (ppm) | 0.008 | 0.011 [ 0.014 [ 0.010 [ 0.011 | 0.010 | 0.012 | 0.006 | 0.006 | 0.014 | 0.009 [ 0.014
ABRm#E R X AL /NER AMBIEBH (H) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B (B5FE) 718 742 718 742 741 713 | 742 718 739 742| 669 742
AEHiE (ppm) | 0.004 [ 0.004 | 0.007 | 0.006 | 0.010 | 0.005 | 0.004 [ 0.004 | 0.003 | 0.004 | 0.004 | 0.004
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.014 | 0.018 [ 0.018 [ 0.017 [ 0.026 | 0.020 | 0.016 | 0.019 | 0.011 | 0.027 | 0.016 [ 0.021
B EYEDRSIE (ppm) | 0.007 [ 0.009 | 0.011 | 0011 | 0016 | 0.012 | 0.009 [ 0.007 | 0.006 | 0.013 | 0.009 | 0.014
AEmEZIR |[FERRAR AMBIERH (8) 30 31 30 31 31 30 31 30 31 31 27 31
B 7E B (B5FE) 718 | 742 77| 742 41| 715 742| 718| 740 740| 666 | 742
ATY{E (ppm) | 0.009 [ 0.010 [ 0,013 | 0.012 | 0.013 | 0.006 [ 0.005 [ 0.005 | 0.005 | 0.006 | 0.007 [ 0.007
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.039 | 0.039 [ 0.049 [ 0.031 | 0.043 | 0.026 | 0.019 | 0.025 | 0.016 | 0.028 | 0.032 [ 0.038
BEHEORSIE (ppm) | 0.015| 0.019 [ 0.020 | 0.020 | 0.020 | 0.013 | 0.010 [ 0.008 | 0.008 | 0.016 | 0.013 | 0.018




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
RHRR DIRIF AMAEBH (/) 30 31 30 31 31 30 31 30 31 31 27 31
I 7 B i (BsFE) 712 736| 714| 740 736| 715| 738 | 712 735| 738| 663 738
AEHIE (ppm) | 0.009 [ 0.008 [ 0.011 | 0.009 | 0.009 | 0.005 | 0.005| 0.005| 0.006 | 0.007 | 0.007 | 0.007
1EFFE B AN0. 1ppmZ it 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
BT fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1HEEORSE (ppm) | 0.038 | 0.047 [ 0.062 [ 0.029 [ 0.040 | 0.026 | 0.026 | 0.015| 0.019 | 0.031 [ 0.026 | 0.037
BTEHENTKSIE (ppm) | 0.013 | 0.014 | 0.021 [ 0.013 | 0.017 | 0.008 | 0.006 | 0.007 | 0.011 | 0.018 | 0.012 [ 0.013
X EF AMBIEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B (B5FE) 715 739| 713| 739 737| 716 738 715 740| 740| 665 740
AEHiE (ppm) | 0.007 | 0.007 [ 0.010 | 0.007 | 0.009 | 0.006 | 0.005 | 0.005 | 0.005 | 0.006 | 0.007 [ 0.006
1BFFE B AN0. 1ppm&ith 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (H) 0 0 0 0 0 0 0 0 0 0 0 0
1FFEEDRSE (ppm) | 0.044 | 0.036 [ 0.045 [ 0.066 | 0.039 | 0.024 | 0.024 | 0.046 | 0.033 | 0.030 [ 0.047 | 0.029
BEYEDRSIE (ppm) | 0.012 | 0.014 | 0017 | 0012 | 0013 | 0.009 [ 0.009 [ 0.011 | 0013 | 0016 | 0.011 | 0013
R X i AMBIERH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E B (B5FE) 716 | 739 710| 739 739 711 | 739 714| 739 741| 667| 738
ATY{E (ppm) | 0.008 [ 0.009 | 0.012 | 0.010 | 0.011 | 0.007 [ 0.006 [ 0.007 | 0.007 | 0.008 | 0.009 | 0.008
1B R B AY0. 1ppmZ i X =B RE 4K Cn)) 0 0 0 0 0 0 0 0 0 0 0 0
B {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1EEORSE (ppm) | 0.069 | 0.061 [ 0.092 [ 0.065 | 0.062 | 0.048 | 0.028 | 0.036 | 0.034 | 0.051 [ 0.054 | 0.036
BEHEORSIE (ppm) | 0.015| 0.017 | 0023 | 0.018 | 0019 | 0.015| 0.010 [ 0.012 | 0012 | 0.020 | 0.017 | 0.015




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
Bide X 2@ AMAEBH (2) 30 31 30 29 31 30 31 30 31 31 28 31
I 7 B i (BsFE) 715 738| 715 712 738 714| 740 713 739| 739 666 740
AEHIE (ppm) | 0.006 [ 0.007 [ 0.008 | 0.007 | 0.007 | 0.005 | 0.004 [ 0.005| 0.005 | 0.006 | 0.006 | 0.006
1EFFE B AN0. 1ppmZ it 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
BT fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1HEEORSE (ppm) | 0.021 | 0.025 [ 0.043 [ 0.023 [ 0.050 | 0.020 | 0.018 | 0.055 | 0.015 | 0.033 [ 0.034 | 0.027
BTEHENTKSIE (ppm) | 0.010 | 0.013 | 0.015( 0.009 [ 0.013 | 0.008 | 0.007 | 0.011 | 0.010| 0.017 | 0.011 [ 0.013
RATIRR == AMBIEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B (B5FE) 714 739| 714 737 735| 716 | 738 | 712 738| 740| 667 740
AEHiE (ppm) | 0.007 | 0.010 | 0.014 | 0010 | 0.011 | 0.006 | 0.006 [ 0.006 | 0.006 | 0.007 | 0.008 | 0.008
1BFFE B AN0. 1ppm&ith 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (H) 0 0 0 0 0 0 0 0 0 0 0 0
1FFEEDRSE (ppm) | 0.026 | 0.050 [ 0.049 [ 0.034 | 0.045 | 0.022 | 0.019 | 0.025 | 0.016 | 0.030 | 0.034 [ 0.030
BEYEDRSIE (ppm) | 0.012 | 0.019 | 0023 | 0016 | 0019 | 0.011 | 0.010 | 0.010| 0011 | 0019 | 0015 | 0.016
RimX E3 N AMBIERH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E B (B5FE) 715 738| 716| 739 740 716| 738 715| 738 741| 666| 740
ATY{E (ppm) | 0.005 [ 0.006 | 0.007 | 0.004 | 0.006 | 0.004 [ 0.005 | 0.004 | 0.004 | 0.005| 0.005 | 0.005
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k Cn)) 0 0 0 0 0 0 0 0 0 0 0 0
B {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1EEORSE (ppm) | 0.018 | 0.029 [ 0.019 [ 0.012 | 0.014 | 0010 | 0.014 | 0.018 | 0.012 | 0.033 | 0.023 [ 0.015
BEHEORSIE (ppm) | 0.008 [ 0.009 | 0.012 | 0.006 | 0.010 | 0.006 | 0.008 [ 0.007 | 0.008 | 0.015| 0.009 [ 0.011




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
=il FERERRAE AOAEBH (2) 30 31 29 28 31 30 31 29 30 31 22 31
I 7E B i (BsFE) 711 734| 695| 670| 722 708| 734 700| 726 | 707| 529| 728
AEHIE (ppm) | 0.002 [ 0.002 | 0.003 | 0.003 | 0.003 | 0.001 [ 0.001 [ 0.002 | 0.002 | 0.003 | 0.003 | 0.002
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.013 | 0.015| 0.017 [ 0.014 [ 0.027 | 0.014 | 0.008 | 0.010 | 0.011 | 0.028 | 0.011 [ 0.015
BTEHENTKSIE (ppm) | 0.005 | 0.006 [ 0.006 [ 0.005 | 0.008 | 0.003 | 0.003 | 0.004 | 0.005 | 0.012 [ 0.005 | 0.007
Zom %H ADMBIEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B (B5FE) 718 742| 718| 740 742 718 742| 718 743| 737 670 735
AEHiE (ppm) | 0.004 [ 0.004 | 0.008 | 0.008 | 0.009 | 0.005| 0.005 | 0.005| 0.004 | 0.005| 0.005 | 0.005
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.015 | 0.018 [ 0.025 [ 0.021 [ 0.021 | 0.014 | 0.016 | 0.015| 0.012 | 0.026 | 0.019 [ 0.023
B EYEDRSIE (ppm) | 0.008 [ 0.010 | 0,013 | 0012 | 0.015 | 0.008 | 0.010 [ 0.008 | 0007 | 0.014 | 0.012 | 0.014
Zh FHL AMBIERH (8) 30 31 30 31 31 30 31 30 27 31 28 31
B 7E B (B5FE) 716 | 741 77| 742 742 T16| 741 718| 670| 742| 670 737
BEHE (ppm) | 0.004 [ 0.005 | 0.008 | 0.006 | 0.005| 0.005 | 0.004 [ 0.003 | 0.003 | 0.004 | 0.006 | 0.004
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.016 | 0.017 [ 0.019 [ 0.017 [ 0.015| 0013 | 0.015| 0.011 | 0.011 | 0.022 | 0.017 [ 0.020
BEHEORSIE (ppm) | 0.010 | 0.010 | 0.011 | 0.009 | 0.008 | 0.007 [ 0.007 [ 0.006 | 0.005 | 0.014 | 0.011 | 0.012




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
BT BT IR AREE AOAEBH (8) 30 31 29 31 31 30 31 30 31 31 28 31
I 7E B i (BsFE) 716 | 738| 694 735 737| 714| 740| T713| 739| 738 667 739
AEHIE (ppm) | 0.004 [ 0.004 | 0.004 | 0.002 | 0.005| 0.003 [ 0.003 [ 0.003 | 0.003 | 0.004 | 0.005 | 0.004
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.012 | 0.014 | 0.016 [ 0.009 [ 0.016 | 0.009 | 0.011 | 0.008 | 0.010 | 0.023 | 0.015 [ 0.020
BTEHENTKSIE (ppm) | 0.008 | 0.008 [ 0.008 [ 0.004 [ 0.009 | 0.005 | 0.007 | 0.005| 0.006 | 0.012 | 0.010 [ 0.013
W W H T EE K ARBIEBH (/) 30 31 30 24 20 30 31 21 30 31 28 31
I 7E B (B5FE) 719 743| 719 575 480 719| 743 514 739 7M1 670 | 742
AEHiE (ppm) | 0.006 | 0.005 [ 0.007 | 0.006 | 0.005| 0.005 | 0.006 [ 0.006 | 0.005 | 0.007 | 0.006 | 0.006
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.014 | 0.020 [ 0.017 [ 0.015| 0.012 | 0.010| 0.013 | 0.011 | 0.012 | 0.025 | 0.017 [ 0.021
B EYEDRSIE (ppm) | 0.010 | 0.011 | 0011 | 0009 | 0.008 | 0.008 | 0.009 [ 0.008 | 0007 | 0.015| 0.012 | 0.014
W T wHEM AL EE AMBIERH (8) 30 31 30 31 31 30 31 29 31 31 28 31
B 7E B (B5FE) 719 743| 719| 743 743| 718 743 1 741 743 671 740
ATY{E (ppm) | 0.004 [ 0.004 | 0.006 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005| 0.004 | 0.005| 0.005 | 0.004
1B R B AY0. 1ppmZ i X =B RE 4K ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.013 | 0.016 [ 0.016 [ 0.011 [ 0.016 | 0.010 | 0.012 | 0.012 | 0.011 | 0.024 [ 0.015 | 0.017
BEHEORSIE (ppm) | 0.008 [ 0.009 | 0.009 | 0.006 | 0.009 | 0.007 [ 0.008 [ 0.007 | 0.006 | 0.012 | 0.009 [ 0.011




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
W H T wHETIIE AMAEBH (8) 29 31 30 31 31 30 27 29 31 31 28 31
I 7E B i (BsFE) 704 | 731 709 | 730 730| 718 675 710| 742| 742| 668| 742
AEHIE (ppm) | 0.006 [ 0.004 | 0.007 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005| 0.004 | 0.006 | 0.006 | 0.005
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.018 | 0.015| 0.016 [ 0.016 | 0.014 | 0.012 | 0.016 | 0.014 | 0.012 | 0.024 | 0.016 [ 0.020
BTEHENTKSIE (ppm) | 0.011 | 0.008 [ 0.011 [ 0.009 [ 0.009 | 0.007 | 0.009 | 0.009 | 0.008 | 0.014 | 0.011 [ 0.013
=y =W AMAEBH (2) 30 31 30 31 17 30 31 30 31 31 28 31
I 7E B (B5FE) 713 742| 714| 740 428| 713| 739| 714 740| 740 669 738
AEHiE (ppm) | 0.003 [ 0.003 | 0.003 | 0.003 | 0.004 | 0.004 | 0.004 [ 0.003 | 0.002 | 0.002 | 0.002 | 0.002
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.010 | 0.011 [ 0.011 [ 0.007 [ 0.008 | 0.007 | 0.008 | 0.011 | 0.010 | 0.019 | 0.010 [ 0.011
B EYEDRSIE (ppm) | 0.006 | 0.005 | 0.005 | 0.004 | 0.005| 0.005 | 0.005 | 0.006 | 0.004 | 0.008 | 0.005 | 0.006
=Y =Yl AMBIERH (8) 30 15 30 31 31 30 31 30 31 31 28 30
B 7E B (B5FE) 716 | 373 711 739 737 74| I 715 737| 740| 668| 735
ATY{E (ppm) | 0.003 [ 0.003 [ 0.001 | 0.001 | 0.001 | 0.001 [ 0.001 [ 0.002 | 0.001 | 0.002 | 0.002 | 0.002
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.009 | 0.009 [ 0.008 [ 0.005 | 0.009 | 0.004 | 0.007 | 0.006 | 0.008 | 0.019 | 0.010 [ 0.011
BEHEORSIE (ppm) | 0.005 [ 0.003 | 0.003 | 0.002 | 0.003 | 0.001 [ 0.002 [ 0.003 | 0.003 | 0.008 | 0.005 | 0.005




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
BiEm BIFTTERE AMAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B i (BsFE) 714 736| 716 739 737| 716 | 739 714| 740| 7M1 666 [ 739
AEHIE (ppm) | 0.004 [ 0.005 | 0.006 | 0.004 | 0.006 | 0.004 | 0.004 [ 0.004 | 0.004 | 0.005| 0.005 | 0.005
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.016 | 0.015 | 0.023 [ 0.015 | 0.020 | 0.010 | 0.018 | 0.012 | 0.011 | 0.032 | 0.016 [ 0.018
BTEHENTKSIE (ppm) | 0.008 | 0.009 [ 0.013 [ 0.007 [ 0.010 | 0.006 | 0.008 | 0.007 | 0.007 | 0.016 | 0.010 [ 0.013
SFA™ F—BER(EH) ADMBIEBH (/) 30 31 30 31 31 30 31 30 31 30 28 31
I 7E B (B5FE) 715 739 | 711 739 737 715| 739 715 737| 733 667| 739
AEHiE (ppm) | 0.004 [ 0.005 | 0.008 | 0.006 | 0.006 | 0.005 | 0.004 [ 0.004 | 0.004 | 0.005| 0.005 | 0.005
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.012 | 0.016 [ 0.019 [ 0.015| 0.016 | 0.011 | 0.011 | 0.010 | 0.012 | 0.025 | 0.013 [ 0.019
B EYEDRSIE (ppm) | 0.007 [ 0.009 | 0,013 | 0.008 | 0.011 | 0.007 | 0.008 [ 0.007 | 0.007 | 0.013 | 0.009 | 0.013
SO FETAER KA AMBIERH (8) 30 31 25 31 31 30 31 28 31 29 28 31
B 7E B (B5FE) 715 740 615| 737 738 714| 739| 669 738 728| 667| 739
ATY{E (ppm) | 0.003 [ 0.004 | 0.005 | 0.004 | 0.004 | 0.003 [ 0.003 [ 0.003 | 0.003 | 0.003 | 0.004 | 0.004
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.012 | 0.016 [ 0.015 | 0.021 [ 0.016 | 0.010 | 0.010 | 0.008 | 0.010 | 0.022 | 0.014 [ 0.020
BEHEORSIE (ppm) | 0.007 [ 0.008 | 0.009 | 0.006 | 0.008 | 0.006 [ 0.007 [ 0.006 | 0.005 | 0.011 | 0.008 | 0.013




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
SO FEZRER (88) BUAEBH (8) 30 31 30 30 31 30 31 30 31 30 28 31
I 7E B i (BsFE) 714 739| 715( 733 738| 715| 739| 715| 736| 733 667 738
AEHIE (ppm) | 0.004 [ 0.005 | 0.006 | 0.005 | 0.006 | 0.005| 0.005 | 0.004 | 0.003 | 0.005| 0.005 | 0.005
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.016 | 0.018 [ 0.018 [ 0.016 | 0019 | 0.012 | 0.015| 0.010 | 0.011 | 0.027 [ 0.018 | 0.019
BTEHENTKSIE (ppm) | 0.008 | 0.011 [ 0.012 [ 0.009 [ 0.012 | 0.008 | 0.009 | 0.008 | 0.006 | 0.014 | 0.009 [ 0.014
WA™M LiioE3 ADMBIEBH (/) 30 31 30 31 31 30 30 30 27 31 28 31
I 7E B (B5FE) 716 | 738| 714| 740 737| 715| 732| 713| 660| 740| 666 740
AEHiE (ppm) | 0.005 | 0.005 | 0.007 | 0.005 | 0.006 | 0.005 | 0.005 | 0.004 | 0.004 | 0.005| 0.005 | 0.005
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.013 | 0.014 [ 0.015| 0.010 | 0.018 | 0.010 | 0.011 | 0.009 | 0.011 | 0.024 [ 0.013 | 0.016
B EYEDRSIE (ppm) | 0.008 | 0.009 | 0.010 | 0.006 | 0.009 | 0.007 | 0.007 [ 0.006 | 0.007 | 0.011 | 0.009 [ 0.011
wAH MA &R AMBIERH (8) 30 31 30 31 31 30 31 29 31 31 28 31
B 7E B (B5FE) 716 | 740 715| 740 739 715| 738| 710| 738 740| 665| 740
BEHE (ppm) | 0.006 | 0.006 [ 0.008 | 0.005 | 0.007 | 0.005 | 0.005 | 0.005 | 0.005 | 0.006 | 0.006 | 0.006
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.015| 0.018 [ 0.017 [ 0.011 | 0019 | 0012 | 0.011 | 0.011 | 0.013 | 0.028 | 0.017 [ 0.021
BEHEORSIE (ppm) | 0.009 [ 0.011 | 0.012 | 0.008 | 0.010 | 0.008 [ 0.008 [ 0.007 | 0.008 | 0.014 | 0.011 | 0.013




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
MA™ FZoRE BHAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B i (BsFE) 716 | 737| 715| 740 738| 716 | 737| 715 740| 740 666 739
AEHIE (ppm) | 0.005 | 0.005 | 0.006 | 0.004 | 0.005| 0.004 [ 0.003 [ 0.003 | 0.004 | 0.005| 0.005 | 0.005
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.013 | 0.015 | 0.016 [ 0.011 [ 0.015| 0.008 | 0.010 | 0.008 | 0.010 | 0.025 [ 0.014 | 0.017
BTEHENTKSIE (ppm) | 0.008 | 0.009 [ 0.010 [ 0.006 [ 0.008 | 0.006 | 0.006 | 0.005| 0.007 | 0.012 | 0.008 [ 0.010
WA™M FE ADMBIEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B (B5FE) 716 | 738| 716| 739 738| 716 738| 715| 740| 740| 668 736
AEHiE (ppm) | 0.005 | 0.004 | 0.006 | 0.006 | 0.008 | 0.006 | 0.005 | 0.004 | 0.004 | 0.005| 0.005 | 0.006
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.013 | 0.013 | 0.017 [ 0.016 [ 0.022 | 0.014 | 0.013 | 0.011 | 0.011 | 0.024 | 0.015 [ 0.021
B EYEDRSIE (ppm) | 0.008 [ 0.007 | 0.010 | 0010 | 0.014 | 0.009 [ 0.009 [ 0.007 | 0007 | 0.012 | 0.009 | 0.013
HARTH FRARIEFR AMBIERH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E B (B5FE) 707 | 739 715| 738 739 715| 740| 713| 735 734| 666| 736
ATY{E (ppm) | 0.005 [ 0.005 [ 0.007 | 0.005 | 0.006 | 0.004 [ 0.004 [ 0.005 | 0.004 | 0.005| 0.005 | 0.005
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.012 | 0.016 [ 0.014 [ 0.010 [ 0.020 | 0.009 | 0.011 | 0.011 | 0.010 | 0.023 [ 0.014 | 0.017
BEHEORSIE (ppm) | 0.008 [ 0.009 | 0.010 | 0.006 | 0.010 | 0.006 | 0.007 [ 0.007 | 0.006 | 0.011 | 0.009 [ 0.011




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
INE™ INERERR AMAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B i (BsFE) 716 | 738| 714 737 738| 716 | 740| 712 740| 738| 667 738
AEHIE (ppm) | 0.006 [ 0.007 [ 0.008 | 0.007 | 0.008 | 0.005| 0.005| 0.006 | 0.006 | 0.006 | 0.007 [ 0.006
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.017 | 0.020 [ 0.018 [ 0.016 | 0.021 | 0.016 | 0.014 | 0.012 | 0.015| 0.031 | 0.021 [ 0.018
BTEHENTKSIE (ppm) | 0.011 | 0.012 | 0.013 | 0.011 | 0.015| 0.007 | 0.009 | 0.008 | 0.010 | 0.016 | 0.011 [ 0.014
JNEm K ADMBIEBH (8) 30 31 30 31 31 30 30 23 31 31 28 31
I 7E B (B5FE) 712 738| 712 740 738 716 730| 561 740 [ 740 668| 740
AEHiE (ppm) | 0.006 [ 0.005 [ 0.007 | 0.004 | 0.006 | 0.004 | 0.004 [ 0.004 | 0.004 | 0.006 | 0.006 | 0.006
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.017 | 0.017 [ 0.016 [ 0.011 [ 0.018 | 0.009 | 0.011 | 0.011 | 0.013 | 0.030 | 0.018 [ 0.020
B EYEDRSIE (ppm) | 0.008 [ 0.010 | 0.010 | 0.006 | 0.011 | 0.006 | 0.007 [ 0.007 | 0.008 | 0.016 | 0.011 | 0.012
RIEHT B PR AMBIERH (8) 30 31 30 31 31 30 31 30 31 30 28 31
B 7E B (B5FE) 709 727 706| 730 727 705| 731 704 729| 721| 55| 729
BEHE (ppm) | 0.002 [ 0.002 | 0.003 | 0.002 | 0.002 | 0.001 [ 0.001 [ 0.002 | 0.002 | 0.003 | 0.002 | 0.002
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.010 | 0.013 | 0.025 | 0.011 | 0.018 | 0.007 | 0.009 | 0.010 | 0.008 | 0.027 | 0.010 [ 0.014
BEHEORSIE (ppm) | 0.004 [ 0.004 | 0.007 | 0.005 | 0.005 | 0.003 [ 0.003 [ 0.004 | 0.005 | 0.012 | 0.005 | 0.008




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
ElE#HH EBRMTRAR AMAEBH (8) 30 31 30 31 31 30 30 30 31 31 28 31
I 7E B i (BsFE) 716 | 738| 716| 739 738| 715 732| 714 740| 740 666 740
AEHIE (ppm) | 0.005 [ 0.005 | 0.006 | 0.005 | 0.006 | 0.005 | 0.005 | 0.004 | 0.004 | 0.005| 0.006 | 0.006
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.014 | 0.013 [ 0.017 [ 0013 | 0013 | 0011 | 0.012| 0.026 | 0.011 | 0.031 [ 0.018 | 0.019
BTEHENTKSIE (ppm) | 0.007 | 0.009 [ 0.010 [ 0.007 [ 0.010 | 0.007 | 0.007 | 0.008 | 0.007 | 0.014 | 0.012 [ 0.013
BRI BEIIT&A AMBIEBH (/) 30 31 30 31 31 30 31 29 31 31 28 31
I 7E B (B5FE) 715 738| 716| 739 738| 716| 738| 706| 738| 740| 666 738
AEHiE (ppm) | 0.004 [ 0.004 | 0.005| 0.003 | 0.005| 0.003 | 0.004 [ 0.004 | 0.003 | 0.004 | 0.005 | 0.004
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.013 | 0.018 [ 0.016 [ 0.010 [ 0.015| 0.010 | 0.011 | 0.011 | 0.011 | 0.025 [ 0.014 | 0.019
B EYEDRSIE (ppm) | 0.007 [ 0.009 | 0.009 | 0.005 | 0.008 | 0.006 | 0.008 [ 0.006 | 0.006 | 0.013 | 0.008 | 0.012
BEEI™ R H AMBIERH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E B (B5FE) 718 741 714 740| 740 716| 741 718| 740 740| 671 740
ATY{E (ppm) | 0.004 [ 0.004 | 0.005 | 0.004 | 0.005| 0.003 [ 0.003 [ 0.004 | 0.004 | 0.005| 0.005 | 0.004
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.012 | 0.012 [ 0.017 [ 0.012 | 0.016 | 0.007 | 0.008 | 0.009 | 0.011 | 0.025 [ 0.013 | 0.017
BEHEORSIE (ppm) | 0.007 [ 0.008 | 0.009 | 0.005 | 0.009 | 0.005 | 0.006 [ 0.006 | 0.007 | 0.013 | 0.009 [ 0.011




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ERL O19F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
R HRRT&R AMAEBH (/) 28 22 19 25 29 27 27 19 28 27 25 25
I 7E B i (BsFE) 693 | 526 490| 622 716| 676 661 505 | 681 667 | 608| 666
AEHIE (ppm) | 0.005 [ 0.006 | 0.007 | 0.006 | 0.008 | 0.005 | 0.004 [ 0.004 | 0.003 | 0.004 | 0.004 | 0.005
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.014 | 0.020 [ 0.021 [ 0.020 [ 0.018 | 0.012 | 0.011 | 0.010 | 0.009 | 0.026 [ 0.012 | 0.017
BTEHENTKSIE (ppm) | 0.009 | 0.011 [ 0.011 [ 0.010 [ 0.011 | 0.007 | 0.006 | 0.006 | 0.006 | 0.012 | 0.008 [ 0.011
FiE™ FIE MR ARBIEBH (/) 30 31 30 31 23 30 31 30 31 31 28 31
I 7E B (B5FE) 717 1M 714 742 577| 716| 742 717| 739 | 742 670| 739
AEHiE (ppm) | 0.006 | 0.006 | 0.007 | 0.006 | 0.006 | 0.004 | 0.006 [ 0.005 | 0.005 | 0.006 | 0.006 | 0.005
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.016 | 0.017 [ 0.019 [ 0.017 [ 0.014 | 0.010 | 0.014 | 0.013 | 0.012 | 0.024 | 0.019 [ 0.071
B EYEDRSIE (ppm) | 0.009 [ 0.010 | 0.011 | 0010 | 0011 | 0.007 | 0.010 [ 0.008 | 0008 | 0.015| 0.013 | 0.014
P& FIE™ME AMBIERH (8) 30 31 29 31 31 30 31 30 31 31 28 31
B 7E B (B5FE) 719 740 715| 741 41 73| 741 717 739| 741| 670| 738
ATY{E (ppm) | 0.007 [ 0.006 [ 0.006 | 0.003 | 0.004 | 0.004 [ 0.005 | 0.006 | 0.006 | 0.007 | 0.008 [ 0.007
1B R B AY0. 1ppmZ i X =B RE 4K ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.017 | 0.017 [ 0.016 [ 0.012 | 0.011 | 0.009 | 0.013 | 0.013 | 0.017 | 0.028 [ 0.020 | 0.019
BEHEORSIE (ppm) | 0.011 | 0.010 [ 0.011 | 0.005 | 0.008 | 0.006 [ 0.008 [ 0.007 | 0.010 | 0.016 | 0.014 | 0.014




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
=am BRPER AMAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B i (BsFE) 712 740| 714 740 736| 716 726 707 739| 739 668 739
AEHIE (ppm) | 0.007 [ 0.007 [ 0.010 | 0.007 | 0.008 | 0.006 | 0.005 | 0.005 | 0.005 | 0.006 | 0.007 [ 0.006
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.032 | 0.030 [ 0.047 [ 0.026 | 0.026 | 0.018 | 0.033 | 0.031 | 0.022 | 0.034 | 0.037 [ 0.025
BTEHENTKSIE (ppm) | 0.011 | 0.015| 0.016 [ 0.010 [ 0.011 | 0.009 | 0.008 | 0.009 | 0.011 | 0.017 | 0.013 [ 0.014
=aT = A HRE S AR ARAT AXMAEBRH (2) 16 31 30 31 31 30 30 30 31 31 28 31
I 7E B (B5FE) 388 | 737| 716| 740| 737 715 734| 714 739| 737| 667 739
AEHiE (ppm) | 0.007 | 0.008 [ 0.010 | 0.009 | 0.009 | 0.006 | 0.006 [ 0.006 | 0.005 | 0.006 | 0.007 [ 0.007
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.021 | 0.036 [ 0.051 [ 0.026 | 0.030 | 0.017 | 0.041 | 0.038 | 0.015 | 0.032 | 0.035 [ 0.022
B EYEDRSIE (ppm) | 0.010 | 0.015 | 0020 | 0013 | 0.014 | 0.009 [ 0.010 [ 0.013| 0010 | 0016 | 0.014 | 0.014
PN i) RARMAEFREE2— AMBIEEE (8) 30 31 29 31 31 30 31 29 31 31 28 31
B 7E B (B5FE) 716 | 737| 708| 737 738 716| 738| 704| 740 740| 667| 739
ATY{E (ppm) | 0.006 [ 0.007 [ 0.008 | 0.007 | 0.006 | 0.004 | 0.006 [ 0.006 | 0.005 | 0.006 | 0.006 | 0.006
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.022 | 0.020 [ 0.025  0.017 [ 0.019 | 0.014 | 0.023 | 0.014 | 0.013 | 0.027 | 0.017 [ 0.025
BEHEORSIE (ppm) | 0.010 | 0.013 | 0014 | 0010 | 0012 | 0.007 [ 0.010 [ 0.009 | 0.009 | 0.016 | 0.011 [ 0.015




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
EwNiT RARBRT BT T & AHAEBH (2) 30 31 30 31 31 30 31 30 31 31 28 30
I 7E B i (BsFE) 716 | 739| 712 740 738| 716 | 739 | 715| 738| 738 667 724
AEHIE (ppm) | 0.006 | 0.006 [ 0.008 | 0.006 | 0.007 | 0.004 [ 0.005 | 0.005 | 0.005 | 0.006 | 0.006 | 0.006
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.017 | 0.019 [ 0.018 [ 0.014 [ 0.019 | 0.011 | 0.016 | 0.014 | 0.015| 0.032 | 0.018 [ 0.022
BTEHENTKSIE (ppm) | 0.010 | 0.012 | 0.013 [ 0.009 [ 0.013 | 0.007 | 0.009 | 0.008 | 0.009 | 0.016 | 0.012 [ 0.014
SRET SRETRAT ARBIEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B (B5FE) 715 738| 714 738 736| 716 740| 715 739| 740| 665 738
AEHiE (ppm) | 0.005 | 0.006 [ 0.007 | 0.005 | 0.006 | 0.005 | 0.005 | 0.004 | 0.004 | 0.005| 0.006 | 0.006
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.016 | 0.018 [ 0.026 [ 0.014 [ 0.018 | 0.012 | 0.013 | 0.012 | 0.011 | 0.031 | 0.016 [ 0.021
B EYEDRSIE (ppm) | 0.008 [ 0.010 | 0.013 | 0.008 | 0.010 | 0.008 | 0.007 [ 0.007 | 0.008 | 0.015| 0.010 | 0.015
XHM REMEA AMBIERH (8) 30 30 30 31 31 29 31 29 31 31 28 30
B 7E B (B5FE) 719 735 717| 743| 738 710| 742 713| 742 741| 668| 731
ATY{E (ppm) | 0.004 [ 0.004 | 0.005 | 0.004 | 0.005| 0.003 [ 0.003 [ 0.003 | 0.003 | 0.004 | 0.004 | 0.004
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.012 | 0.013 [ 0.014 [ 0.011 | 0.018 | 0.009 | 0.009 | 0.008 | 0.010 | 0.024 [ 0.012 | 0.016
BEHEORSIE (ppm) | 0.007 [ 0.008 | 0.009 | 0.006 | 0.009 | 0.005| 0.005 | 0.005| 0.005| 0.011 | 0.008 | 0.010




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
R ERET REERET %15 AMAEBH (8) 30 30 27 31 31 29 31 30 31 30 28 31
I 7E B i (BsFE) 715 730 | 682 741 739 707| 738| 715 738| 734| 668 740
AEHIE (ppm) | 0.005 | 0.006 [ 0.007 | 0.006 | 0.007 | 0.005 | 0.005 | 0.004 | 0.004 | 0.005| 0.006 | 0.006
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.014 | 0.018 [ 0.023 [ 0.014 [ 0.021 | 0.022 | 0.013 | 0.013 | 0.011 | 0.032 [ 0.015| 0.017
BTEHENTKSIE (ppm) | 0.008 | 0.010 [ 0.013 [ 0.009 [ 0.011 | 0.008 | 0.008 | 0.007 | 0.006 | 0.015 | 0.009 [ 0.012
e T e T 1% 355 AMBIEBH (/) 30 29 29 31 31 30 31 30 31 31 28 31
I 7E B (B5FE) 706 | 711 700 | 740 | 739| 715( 739 712| 740| 740 663 | 740
AEHiE (ppm) | 0.003 [ 0.004 | 0.005 | 0.004 | 0.005| 0.004 | 0.004 [ 0.003 | 0.003 | 0.004 | 0.004 | 0.004
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.015| 0.019 [ 0.020 [ 0.022 [ 0.022 | 0.011 | 0.011 | 0.012 | 0.009 | 0.027 | 0.012 [ 0.018
B EYEDRSIE (ppm) | 0.007 [ 0.007 | 0.010 | 0.008 | 0.008 | 0.007 | 0.007 [ 0.006 | 0.007 | 0.013 | 0.007 | 0.010
NG T AN HE S/INERR AMBIERH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E B (B5FE) 718 739 715| 742 741 716 | 741 716 | 734| 742| 667| 740
ATY{E (ppm) | 0.005 [ 0.006 [ 0.008 | 0.007 | 0.009 | 0.008 [ 0.009 [ 0.006 | 0.004 | 0.005| 0.005 | 0.006
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.015 | 0.021 [ 0.020 [ 0.016 | 0.019 | 0.082 | 0.100 | 0.040 | 0.100 | 0.023 | 0.018 [ 0.023
BEHEORSIE (ppm) | 0.009 [ 0.011 [ 0013 | 0011 | 0014 | 0.017 | 0.029 [ 0.011 | 0011 | 0.013 | 0.009 | 0.014




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
KIRTESE B|EIIENER AMAEBH (8) 30 31 30 31 31 30 31 30 31 31 27 31
I 7E B i (BsFE) 718 742 | T15( 742 742 72| I 718 739 741 666 | 741
AEHIE (ppm) | 0.006 | 0.006 [ 0.008 | 0.007 | 0.008 | 0.007 | 0.005 | 0.005 | 0.004 | 0.005| 0.008 [ 0.009
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.022 | 0.025 [ 0.024 [ 0.018 | 0.023 | 0.015| 0.016 | 0.017 | 0.020 | 0.026 | 0.021 [ 0.028
BTEHENTKSIE (ppm) | 0.010 | 0.011 [ 0.013 [ 0.012 [ 0.014 | 0.010 | 0.009 | 0.008 | 0.009 | 0.014 | 0.012 [ 0.018
Zom BRH&AR ADMBIEBH (H) 30 31 25 9 31 30 31 30 31 31 28 31
I 7E B (B5FE) 716 | 741 617 | 231 741 716 | 740 | 718 | 742 742| 670 736
AEHiE (ppm) | 0.005 | 0.005 | 0.008 | 0.009 | 0.014 | 0.008 | 0.005 | 0.004 | 0.003 | 0.004 | 0.005 | 0.006
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.015| 0.020 [ 0.023 [ 0.022 [ 0.030 | 0.022 | 0.012 | 0.013 | 0.010 | 0.024 | 0.017 [ 0.021
B EYEDRSIE (ppm) | 0.009 [ 0.011 | 0013 | 0014 | 0.024 | 0.014 | 0.007 [ 0.006 | 0.006 | 0.012 | 0.010 | 0.014
WA WR R 8 S &I P AMBIERH (8) 30 31 20 21 31 30 31 29 31 31 28 31
B 7E B (B5FE) 718 742 479| 504| 743 718| 743| 710| 743 742| 670| 739
ATY{E (ppm) | 0.006 | 0.006 [ 0.008 | 0.007 | 0.005| 0.005 | 0.006 [ 0.008 | 0.005 | 0.006 | 0.006 | 0.006
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.022 | 0.024 [ 0.021 [ 0.013 | 0.014 | 0010 | 0.013 | 0.015| 0.013 | 0.025 | 0.018 [ 0.021
BEHEORSIE (ppm) | 0.011 | 0.012 | 0.014 | 0.009 | 0.008 | 0.008 [ 0.009 [ 0.010 | 0.008 | 0.014 | 0.011 | 0.014




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
=y SR AMAEBH (8) 30 31 30 31 28 29 31 30 31 31 28 31
I 7E B i (BsFE) 709 | 739| 713| 738 675| 696 738| 713 737| 738| 666 732
AEHIE (ppm) | 0.004 [ 0.004 | 0.005 | 0.006 | 0.005| 0.002 [ 0.003 [ 0.004 | 0.005 | 0.005 | 0.006 | 0.004
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.011 | 0.013 | 0.012 | 0.013 | 0.017 | 0.005| 0.009 | 0.010 | 0.011 | 0.019 | 0.015 | 0.013
BTEHENTKSIE (ppm) | 0.007 | 0.007 [ 0.007 [ 0.008 [ 0.009 | 0.003 | 0.005| 0.007 | 0.007 [ 0.010 [ 0.010 | 0.007
SFA™ RN TESK AMBIEBH (/) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B (B5FE) 714 739| 714 738 738| 715| 737| 713 729| 733 664 734
AEHiE (ppm) | 0.005 | 0.005 [ 0.007 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005| 0.005 | 0.006 | 0.006 | 0.006
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.014 | 0.018 | 0.016 [ 0.013 [ 0.015| 0.020 | 0.013 | 0.011 | 0.013 | 0.028 | 0.017 [ 0.018
B EYEDRSIE (ppm) | 0.009 [ 0.009 | 0.010 | 0.007 | 0.009 | 0.007 [ 0.008 [ 0.008 | 0.009 | 0.015| 0.011 | 0.013
wAM 1817 AMBIERH (8) 30 31 24 31 31 30 31 30 31 31 28 31
B 7E B (B5FE) 715 738| 590| 739 736 716| 739 713| 740 741| 667| 739
ATY{E (ppm) | 0.006 [ 0.005 [ 0.007 | 0.005| 0.007 | 0.005 | 0.005 | 0.005 | 0.006 | 0.006 | 0.006 | 0.006
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.014 | 0.013 [ 0.016 [ 0.011 | 0.017 | 0.009 | 0.010 | 0.010 | 0.012 | 0.025 [ 0.016 | 0.019
BEHEORSIE (ppm) | 0.010 | 0.009 [ 0.011 | 0.007 | 0.012 | 0.007 [ 0.008 [ 0.007 | 0.008 | 0.013 | 0.011 | 0.012




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
MA™ iR AMAEBH (2) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B i (BsFE) 715 740| 715| 740 739| 715 739 716| 738| 7M1 667 | 739
AEHIE (ppm) | 0.006 [ 0.006 | 0.007 | 0.006 | 0.007 | 0.006 | 0.005 | 0.005| 0.004 | 0.005| 0.005 | 0.004
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.018 | 0.018 [ 0.016 [ 0.013 | 0019 | 0,013 | 0.015| 0.011 | 0.011 | 0.023 [ 0.016 | 0.017
BTEHENTKSIE (ppm) | 0.010 | 0.010 [ 0.011 [ 0.007 [ 0.010 | 0.008 | 0.009 | 0.007 | 0.007 | 0.012 | 0.009 [ 0.010
JNEm AFE AMBIEBH (8) 30 31 30 29 31 30 31 29 31 31 28 31
I 7E B (B5FE) 703 729| 704 671 710 | 698 | 723| 697 724| 724| 653 725
AEHiE (ppm) | 0.002 [ 0.002 | 0.003 | 0.002 | 0.002 | 0.001 | 0.001 [ 0.002 | 0.002 | 0.003 | 0.003 | 0.002
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.013 | 0.012 | 0.012 [ 0.009 [ 0.015 | 0.009 | 0.006 | 0.009 | 0.008 | 0.021 | 0.011 [ 0.010
B EYEDRSIE (ppm) | 0.006 | 0.006 | 0.005 | 0.005 | 0.007 | 0.003 | 0.003 | 0.004 | 0.005| 0.010| 0.005 | 0.007
R R NERR AMBIERH (8) 30 31 30 31 31 30 31 30 31 31 28 31
B 7E B (B5FE) 714 739 716| 740 738 715| 739| 715| 740 739 667| 734
BEHE (ppm) | 0.006 [ 0.007 [ 0.008 | 0.006 | 0.007 | 0.005 | 0.005 | 0.005 | 0.005 | 0.006 | 0.006 | 0.006
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.019 | 0.023 [ 0.024 [ 0.015| 0.020 | 0017 | 0.017 | 0.014 | 0.013 | 0.030 | 0.020 [ 0.018
BEHEORSIE (ppm) | 0.010 | 0.012 | 0013 | 0.009 | 0.013 | 0.010 [ 0.008 [ 0.008 | 0.009 | 0.015| 0.010 | 0.013




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ER 19%F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
0= 7] W& AMAEBH (8) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B i (BsFE) 714 739| 714 735 739 712| 738 | 714 739| 739 667 739
AEHIE (ppm) | 0.005 [ 0.006 [ 0.007 | 0.005 | 0.006 | 0.005 | 0.004 [ 0.005 | 0.005 | 0.005 | 0.006 | 0.006
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.014 | 0.019 [ 0.016 [ 0.014 [ 0018 | 0011 | 0.011 | 0.012| 0.012 | 0.024 | 0.015 | 0.018
BTEHENTKSIE (ppm) | 0.009 | 0.010 [ 0.011 [ 0.008 [ 0.010 | 0.007 | 0.007 | 0.008 | 0.007 | 0.013 | 0.010 [ 0.013
=at HER—)LMBS AMBIEBH (H) 30 31 30 31 31 30 31 30 31 31 28 31
I 7E B (B5FE) 716 | 738| 714 740 737| 716 | 740 712 739 7M1 666 | 740
AEHiE (ppm) | 0.006 | 0.006 | 0.008 | 0.006 | 0.007 | 0.005 | 0.005 | 0.005| 0.005 | 0.006 | 0.006 | 0.006
1BFFE B AY0. 1ppm& e 2 1= AR 4 (¥ FED) 0 0 0 0 0 0 0 0 0 0 0 0
BT HfEAY0.04ppmE B2 - B H (/) 0 0 0 0 0 0 0 0 0 0 0 0
1EFEED RS E (ppm) | 0.031 | 0.025 | 0.028 [ 0.016 | 0.023 | 0.012 | 0.020 | 0.031 | 0.013 | 0.029 | 0.031 [ 0.020
B EYEDRSIE (ppm) | 0.009 [ 0.013 | 0013 | 0008 | 0.012 | 0.008 | 0.008 [ 0.009 | 0009 | 0.015| 0.012 | 0.012
PN i) RABRTIREFRERELV2— | AMBIEEHK (8) 30 31 30 31 31 30 31 30 31 31 28 30
B 7E B (B5FE) 716 | 737 715| 740 733 715| 737| 714| 740 741| 666| 732
ATY{E (ppm) | 0.006 [ 0.007 [ 0.009 | 0.007 | 0.008 | 0.005 | 0.006 [ 0.006 | 0.006 | 0.007 | 0.007 [ 0.007
1B R MEAY0.1ppmZ #8 % 1= BEFEI 2k ) 0 0 0 0 0 0 0 0 0 0 0 0
B T {EA0.04ppmE A = B (2) 0 0 0 0 0 0 0 0 0 0 0 0
1REEORSE (ppm) | 0.019 | 0.020 [ 0.024 [ 0.015 | 0.020 | 0.015| 0.014 | 0.013 | 0.013 | 0.029 | 0.017 [ 0.021
BEHEORSIE (ppm) | 0.010 | 0.012 | 0013 | 0010 | 0.014 | 0.008 [ 0.010 [ 0.009 | 0.009 | 0.016 | 0.012 | 0.015




“ERemE ( soO2 : HARIE ) MEFREZ KB
FRE 18%F ERL O19F
(%) BT 4t BIERA B B
4B | 5B | 6B | 7B | 8A | 9A (108 | 1A | 12B | 1B | 2B | 3R
P o B T [ 3% P R B AMAEBH (8) 30 31 30 31 31 30 31 30 31 29 28 31
I 7E B i (BsFE) 713 733| 708| 735 732| 709 | 735| 708| 734| 712 659 736
AEHE (ppm) | 0.002 [ 0.001 [ 0.002 | 0.002 | 0.002 | 0.001 [ 0.001 [ 0.002 | 0.002 | 0.003 | 0.002 | 0.002
1EFFE B AN0. 1ppmZ il 2 1= B 41 (B5FE) 0 0 0 0 0 0 0 0 0 0 0 0
B T fEAY0.04ppmZ B2 = B H (8) 0 0 0 0 0 0 0 0 0 0 0 0
1BEEORSE (ppm) | 0.008 | 0.010 [ 0.010 [ 0.008 [ 0.013 | 0.005 | 0.007 | 0.007 | 0.009 | 0.022 | 0.012 [ 0.012
BENBEORSIE (ppm) | 0.004 [ 0.004 | 0.005 | 0.004 | 0.005| 0.002 [ 0.003 | 0.003| 0.004 | 0.010| 0.006 | 0.007
ADBIEBH (/)
B E BE R (B5FE)
R¥EHiE (ppm)
1B REEHY0.1ppmZE 8 2 1= B fE 3k (B§FE)
B ¥ {EA%0.04ppmZEHZ =B (/)
1BHECRSE (ppm)
BEHEORSIE (ppm)
AMBEEH (2)
I %E B A (A
R¥E#HiE (ppm)
1EFREMENN0. 1ppmZ i X - R 8 (:=3i5))
B FH{EA0.04ppmZE X =B (/)
1BHECRSE (ppm)
BIEHEORSIE (ppm)




	229SO2

